
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

1st Month, 4th Week, 4th Day Sub-domain III. Review Complete 1(a)

Q.1. Choose the correct options.   (0.5x 6 = 3)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) The difference between approximated value and actual

accurate value is called: ŒŒŒŒÛÛÛÛdddd$$$$FFFF,,,,++++7777ZZZZzzzzggggZZZZÝÝÝÝ™™™™gggg„„„„7777»»»»����ÛÛÛÛttttBBBB@@@@****ìììì::::
(a) round özŠ (b) significant figure  ZëyÐ

(c) approximation error  ŒÛd$F,+t (d) estimated value   ŒÛR7
(ii) Round 0.0234589 to the 4 significant figures.

ZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™ääääÐÐÐÐMMMMìììì:::: 4ÃÃÃÃ 0.0234589
(a) 0.02346 (b) 0.02345 (c) 2346 (d) 0.0235

(iii) Which of the following is perfect square?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚åååå%%%%,,,,ìììì????
(a) 25.6 (b) 0.256 (c) 2.56 (d) 2560

(iv) 1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 7 + 6 + 5 + 4 + 3 + 2 + 1 = ?

(a) 82 (b) 92 (c) 65 (d) 81

(v) Square of 0.9 is: »»»»%%%%,,,,ìììì:::: 0.9

(a) 0.081 (b) 8.10 (c) 0.81 (d) 81.027

(vi)Which of the following is true about ?

ÆÆÆÆaaaa™™™™gggg„„„„ìììì???? ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚
(a) whole number  å°Š (b) natural number  ŠgC°Š
(c) rational number    **ê°Š (d) irrational number  )**ê°Š

Q.2.  Answers the following questions. ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ!!!!****]]]]ŠŠŠŠ,,,,XXXX
(i) Identify the property of real numbers used in the following:

(1x2=2) Šg`fs~ZEwƒäzZàÇZ°ZŠÅS:]Å¶KyŠ„™,:
(a)   25 + (7 + 5) = (25 + 7) + 5 (b)  17 + (–17) = 0

(c)    =   (d)  25 x 5  =  5 x 25

(ii) Round the following to the given degree of accuracy. (1×2=2)

Šg`fsZ°ZŠÃŠØ‰Šg„yÎVJ-özŠ™,X

(a) 598235 (4 s.f) (b)    (2 d.p)

(iii) If the area of a square field is 161604m2. Find the length of its one side.

(1×3=3) %,¢aìXZkÆZq-IÅMð¥x™,X 161604 Zq-%¹E»gK
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